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FPl6: hied FERHIZ G T HE 4 ARk

2)

E30
.................................................. m1=30kg
Vi=50m/min
+0.02mm
.................................................................. u1=0.1
....................................................... n1=0.95
............................................................................ Li=1m
................................................... d=0.06m
........................................................... w=20mm
m2=0.22kg
Sp R AIERL, ERENH=20°, EHEMB=19.2°
TEFTRIER v t=2s
D11 TN t1=ts=0.1s
HE
1E 30 i 20 B R
LV T
260 60 260

oo 6ot
SRV

60
SAWBITRE N=—-=30

MRS HRINBITRE: t=1-N=0.1x30=23s

FHMAREINER ST E—REREISUAA, FHEHR.

HER B AHEE

S %0 265.30r/mi
M @3 1x00  2o0-38min

HHESR KX HHEE
REARBE, SHREZED:

A
F1=U1-m1-g-E+Fz =0.1x30%9.8+30 = 59.4N

L N— SEIRIEEZFE ), BY F2= 30N

HYA=B
TSR ARTEEE:

o Frmrgd_(594+30:98):006
ST 2x0% = AR

EEFERN R M=S1-M=1.5x11.16=16.74N - m
IR REERE, —%S1=15, HSi=15
HHEAHRE

HAER IR

Jom——=————=0.99x10"*kg - m?

RPIRE:

J =J1+J2=0.027+0. 99%10%=270.99 x10“kg - m?
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5. HEmMEBEFEE
1) RAIMEBEEEE:

o 2P 23392099 K10%
et 60%0.1 AOIE AN m

2) BRERFERNHE:
Ms=S2- M3=2x18.7=37.4N - m
So........ BERE, —HS2=2, HIS:=2

FEER, EiREERARBEREA: MG80A075Y22HT10B
ST FUEEEER Nm=300r/min > N1 = 265.39r/min

RS Mm1=21.6N - m>M2=16.74N - m
B [E) 7558 Mm2= 69N - m > Ma=374N - m ABRAIERAL: MGBOAOTSY22HT10B  {ABRIEENZE: MKAOT5Y22

HIRLEE 0= 10

RBEHETIRE Jn=146x10"kg - m? A | .
ﬁ‘ \[z:,\/\w = 8131 BR SEi

B
=Lt TmeeLE: MXASOE (]

W% Ifﬂ}

Re 2 =B g6 —ppipm 20, &4
[t BRERBLAT 20, FAHE

8. iREEHAMRBERE AR AR .
1) RS R I ) ﬂ

_2Ms_ 2x374

1% : MXASOM
2) CREN A Z R EE
Fs-tanon 1246.7 xtan20 °

Fe= = =232.8N
‘ cos B c0s19.2°

EiREERHMEETTRAER, BARTRE:

194259 194259
Few x0.7= x0.7=20146N (S TESAE S ISRTER  70%)

—+94, fd
2 94.5 5575

4=232.8N <Fr= 20146N, ZEAEBEER.
3) RURNIE AT HEE S Fs=Fs- tanB =12467 x tan19.2°=210.9N
4) CHAEMBEORTAEER, WA RE: Fa=1200x 0.7 = 840N (A Z SR E R {FATEN70%)
5) Fs=210.9N <Fa= 840N, ZEAREHEER.
9. ITEEFEELD
1) AR GRIEES S P2 E = 131072 fiod/B
2) EBSfFIEAERE 6= £0.01mm, HUMIZEISFE W =0.01 mm/fioh
_F1-09F1-10  W-Ed_0.01x131072x1 131072
FI-1MF12 P, 10 1000
F1-00F1-10: BFHBEEATF, FI1FI12: BFEREES S, HeREsEm: 1~9999,
3) RBF1-09=13 F1-10=1072 F1-11=0 F1-12=1000
10. WEPLCHEIEHIBR SRR MESHHMERTHERARBIES TEFEEXR, HLEHE, FHEAVEIENS
WRW, EETFIERIED
1) {RBR B HLE B L VEREIR N2 =1 = 265.39%10 = 2653.9r/min
2) fARREN RS TIER RN T H A = R pOh & S s

(_TeE_28530x1310T2%042
“%D  eoxistorz ¢

3) PLCEIERNEGIEEmEMOM RS HLINE b= 100kHz >fi=417kHz  HREX
B FRS R, Wik T ARERHARRERNECEES ERFSEREY
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